BT ERRSRET =4V HREICEODGAERR
BIFBGL: uSv(AoBL—ARJLR) /h

BIE Hh & FRK23%9H20H 10A4H 108188 11A1H 118158 12A1H 12813H
thEMSDES thEMSDES thEMSDES thEMSDES thEMSDES M EMSDOES thEMSDES
0.5m 1.0m 0.5m 1.0m 0.5m 1.0m 0.5m 1.0m 0.5m 1.0m 0.5m 1.0m 0.5m 1.0m

1ERDNERT TR 0.13 0.12 0.13 0.12 0.12 0.12 0.13 0.12 0.14 0.13 0.12 0.12 0.13 0.12
QAR BRELVI—EE 0.13 0.12 0.12 0.11 0.12 0.1 0.12 0.11 0.14 0.12 0.12 0.11 0.12 0.11
3| RFZFLAEZ BMILE 0.13 0.12 0.14 0.13 0.13 0.13 0.13 0.13 0.13 0.13 0.13 0.13 0.13 0.12
4|E=hERT IR 0.10 0.09 0.08 0.08 0.08 0.07 0.08 0.07 0.07 0.07 0.07 0.07 0.08 0.07
5| HIB/NERT SR 0.12 0.11 0.13 0.12 0.13 0.12 0.12 0.12 0.12 0.11 0.11 0.11 0.12 0.11
6| HET/NER T SR 0.10 0.10 0.11 0.10 0.11 0.11 0.11 0.10 0.10 0.10 0.11 0.10 0.10 0.10
1KEBINERT TR 0.14 0.13 0.14 0.14 0.14 0.14 0.14 0.14 0.14 0.14 0.13 0.13 0.14 0.14
8|/NHB/INERT TR 0.12 0.12 0.12 0.11 0.13 0.12 0.13 0.12 0.12 0.11 0.12 0.12 0.12 0.12
IRBRELVI—EE 0.10 0.10 0.08 0.09 0.10 0.10 0.10 0.10 0.09 0.09 0.09 0.09 0.10 0.09

BITE Hh = Fri24%F1H5AH 18178 2H3H 28148 3A5H 3H21H
thEMSDFS thEMSDES thEMSDES thEMSDES thEMSDES thEMSDES
0.5m 1.0m 0.5m 1.0m 0.5m 1.0m 0.5m 1.0m 0.5m 1.0m 0.5m 1.0m

1ERDNERT TR 0.1 0.09 0.07 0.06 0.04 0.04 0.04 0.03 0.06 0.06 0.11 0.10
QAR BRELVA—EE 0.12 0.11 0.08 0.08 0.07 0.06 0.06 0.06 0.07 0.06 0.10 0.10
| XFZLLAEZ BHILE 0.12 0.11 0.07 0.07|0.03(5t=#18) [ 0.03 (5 &%) 0.06 0.05 0.06 0.06 0.06 0.06
4|E=hERT IR 0.08 0.07 0.05 0.05 0.03 0.04 0.04 0.03 0.04 0.04 0.06 0.05
5| HIB/NERT SR 0.12 0.11 0.05 0.06 0.05 0.04 0.04 0.03 0.05 0.04 0.05 0.04
6| HET/NER T SR 0.08 0.08 0.06 0.05 0.05 0.05 0.04 0.03 0.06 0.05 0.07 0.07
IKEBINERTFUF 0.12 0.11 0.09 0.08 0.06 0.06 0.04 0.05 0.07 0.06 0.07 0.06
8|/NHB/INERT TR 0.12 0.11 0.07 0.07 0.05 0.04 0.04 0.04 0.05 0.05 0.07 0.06
IRBRELVI—EE 0.10 0.09 0.07 0.06 0.05 0.05 0.04 0.04 0.07 0.06 0.08 0.07
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